1.

The process of learning by doing, engaging
students in hands-on experiences and
reflection and able to connect theories
and knowledge learned in the classroom

to real-world situations
ENE
(A) Creative learning %@ i

(B) Experiential learning

(C) Field based learning

(D) Competency based learning
(E) Not attempted

World Earth Day is celebrated on
(A) April 22 (B) February 02
(C) November21 (D) March 21
(E) Not attempted

is the headquarter of
Northern railway zone of India.
(A) Ambala (B) Chandigarh
(C) Kurukshetra (D) Panchkula
(E) Not attempted ‘

4. Which of the following layer in the

5.

(C) Weightlifting

atmosphere contains ozone, protects
earth ?

(A) Troposphere
(B) Mesosphere
(C) Stratosphgr;,
(D) None of the above

(E) Not attempted

Girivar Singh is associated with which
among the following sports ?

(B) Wrestling
(D) Boxing

(A) Gymnastics

(E) Not attempted
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6.

10.

This sign indicates e

(A) horning area

(B) no horn

(C) no horning area
(D) compulsory horn
(E) Not attempted

is undesired high level of sound.

(A) Pitch
(B) Music

(C) Noise

(D) Frequency

(E) Not attempted

In Haryana, Mhara Gaon Jagmag Gaon
Scheme was launched in

(A) 2016 (B) 2014

(C) 2017 . (D) 2015

(E) Not attempted

The child is able to use abstract ideas,
symbols, language and logic to understand
and represent the world is called

of cognitive growth.

(A) Symbolic stage (B) Iconic stage
(C) Active stage
(E) Not attempted

It strengthens and encourages learning
and allows learners to recognise their

achievements or strengths and areas that
need improvement

(D) Enactive stage

(A) Intentional
(B) Innovation

(C) Knowledge based EEE
(D) Reflection &'&%@

(E) Not attempted
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11. Haryana Govt. had declareq which

among the following years as ‘The Year
of Industry and Employment’ 7

(A) 2014 (B) 2013

(C) 2011 (D) 2012
(E) Not attempted

12, Master plan of Chandigarh is analogous

to human body and which among the
following is called as its heart ?

(A) Leisure valley (B) City centre

(C) Industrial area (D) Capitol complex
(E) Not attempted

13. Early childhood development includes

main aspect/s such as
(A) Care

(C) Support

(E) Not attempted

(B) Education
(D) AandB

14.  One block One product was promoted by
Scheme of Haryana.

(A) Padma
(C) Gada

(E) Not attempted

(B) Shankh
(D) Chakra

15. A flashing red light indicates
(A) Halt

(B) Observe and proceed with caution
(C) Bright Sun Stop
(D) None of the above

(E) Not attempted
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16. Which of the following steps are
applicable for reducing drop out in school ?

(A) Making sure that school runs regularly
and teachers are present and teach

(B) Conducting parent teacher meeting
regularly to share concems

(C) Ensuring chilg friendly environment
in school ang prevent any kind of

discrimination -
(D) All of the above E{@
(E) Not attempted »

17.  The conversion of forested areas to
non-forested ones called as

(A) Deforestation
(B) Forest degradation
(C) Afforestation
(D) None of the above

(E) Not attempted

18. Self-assessment can be done through
(A) Questioning (B) Checklists

(C) Journaling (D) All of the above

(E) Not attempted

19.  This is the first institution of higher
education to create a separate college for
sports in India

(A) Maharshi Dayanand University

(B) Chaudhary Charan Singh Agricultural
University

(C) NIILM University
(D) ITM University Gurugram

(E) Not attempted
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The learning in the Preparatory Class - 33 B Iﬂ‘g‘%w A Py
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learning with a focus on developing whic & T T IR 37 et 3
of the following abilities ? A
(A) Cognitive (B) Psychomotor (2) mam”_mtqa; (By
(C) Affective (D) All of the above (©) EREED D) = my
(E) Not attempted (E) 3rsfdra
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(D) None of the above

(E) Not attempted (E) 3T9Tiéd

22. Which of the following is not an indicator 22, f=fefea § 9 9-41 FTAST § W

of malnourishment in children ? 1 TH Hhash 1= % ?
(A) Skin becomes dry and flaky (A) =T Y@ 37 quigam s
(B) f?é%::l l;agg:}? in terms of weight, (B) YR, &=TS 97 21 | gig 7 g
(C) Child may gain weight aj ; i ' .
(D) Muscle wasting and lack of strength (D) HIEARRT FHsii BHT 1 3 Wfeq A
in the muscles EﬁT
(E) Not attempted (E) 3I9amfag
23. |If this comes on, switch off the engine J 23 aTe] ; — = '
immediately as it may result in engine . qﬁ b Frer it W Wi SR A% .
seizure ?ﬁﬁ?mwamaﬁwm%
(A) Oil pressure lamp ) o Te Sy
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24, Blodegradable Wastes are generated by

(A) Cotton mills

(B) Paper mills

(C) Food Processing units
(D) All the above

(E) Not attempted

25. Highest award of Haryana Gouwt. for the

outstanding players of the State is
(A) Rani Laxmi Bai Award

(B) Eklavya Award

(C) Bhim Award

(D) Maharana Pratap Award
(E) Not attempted

26. Which of the following scheme was

Started by the Government of Haryana to
adopt terminal method of family planning
and to control the growth of population ?

(A) Furlough Scheme
(B) Devi Rupak Yojana
(C) Bhagyaodaya Yojana
(D) Indira Saheli Scheme

(E) Not attempted

27. This sign is

(A) T-Intersection

(B) Joining road

(C) Dual carriageway ends
(D) None of these

(E) Not attem pted
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08. Water hyacinth (Eichhornia crassipes),
the world’s most problematic aquatic
weed, also called as

(A) Terror of Punjab
(B) Terror of Bengal

(C) Terror of Karnataka ENEE
\,%

(D) Terror of Haryana %

(E) Not attempted

29. It refers to difficulty in reading due to

problems identifying speech sounds and

learning how they relate to letters and
words

(A) Dyslexia

(B) Dyspraxia
(C) Dyscalculia
(D) Dysgraphia
(E) Not attempted

30. Haryana Govt. had launched the

Yojana, a scheme to provide

financial assistance of Rs. 10,000 per

acre to farmers cultivating and supplying

fodder to Gaushalas.

(A) Chaara-Bijace (B) Chaara-Payi
(C) Chaara-Gobar (D) Chaara-Paani
(E) Not attempted

31. It weakens attention and perception

and diminishes the power of insight and
initiation

(A) Fatigue

(C) Diffusion

(E) Not attempted

(B) Excitement
(D) All of the above

32. Haryana is only next to in
terms of average paddy output in the
country.

(A) Bihar

(C) Punjab

(E) Not attempted

(B) Uttar Pradesh
(D) Tamil Nadu
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33. Which among the following lakes is not

34.

35.

36.

located at Gurugram district of Haryana ?
(A) Khalilpur

(B) Sultanpur

(C) Kotla

(D) Badkhal

(E) Not attempted

light gives time to vehicles to
clear the road.

(A) Blue
(C) Amber
(E) Not attempted

(B) Red
(D) Green

is distributed under Mahila
Avam Kishori Samman Yojana of
Haryana Govt.

(A) Sanitary napkin

(B) Free ration

(C) Beauty kits

(D) Free power

(E) Not attempted

Bilingual education refers to the use of
two languages as mediums of instruction,
enables students to develop comprehensive

abilities in the second language in terms of
which of the following ?

(A) Listening

(B) Reading and writing
(C) Speaking

(D) All of the above

(E) Not attempted
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7. Which of the following principle/s neef:l to
be followed while planning and organizing

the curriculum ?

E%gE
(A) It should be learner centered !E'k%
(B) It should be age specific [N

(C) 1t should be keep balance between
traditions and modernity

(D) All of the above
(E) Not attempted

38. To control environmental pollution, the
Government of India has passed the
Environment (Protection) Act, in the year

(A) 2002
(C) 1986
(E) Not attempted

(B) 2022
(D) 1984

39. According to Haryana Panchayati Raj
Act, Gram Sabha must be held on which
among the following dates ?

(B) April 1
(D) April 13

(A) May 15
(C) July 13
(E) Not attempted

40. Under Manohar Jyoti Yojana of Haryana
Govt. every family is provided with a

watt solar system.
(A) 250 (B) 50
(C) 500 (D) 150

(E) Not attempted

41. Appropriate teacher-child ratio suggestive
as per policy for pre-school education
(3-6 years old children)

®) 1:10
(D) 1:15

(A) 1:20
(C) 1:25
(E) Not attempted
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42. Recently, the Union Cabinet has

46.

approved the Prime Minister POSHAN
Scheme which will replace the existing
Scheme.

(A) Tithi Bhojan

(B) Sarva Shiksha Abhiyan

(C) National Nutrition Program

(D) Mid-day Meal

(E) Not attempted

In this model the educational aims are
drawn from the analysis of the values of

the existing culture
(A) Goodlad's model

(B) Hunkin's model
(C) Seller's model
(D) Miller's model
(E) Not attempted
is the nodal agency for

developing energy through
non-conventional sources.

(A) HYDRA (B) HARIDRA

(C) HARDIA (D) HAREDA

(E) Not attempted

Which of the following is not a key
characteristic of assessment for learning
(A) Providing appropriate feedback

(B) Involving students in self and peer

assessment
(C) Reviewing and reflecting on %," =
assessment information &l
(D) Involving parents in assessment
(E) Not attempted
Under this scheme, a chain of grocery
shops will be started in rural as well as
urban areas of the State of Haryana.
These shops will distribute best quality

essential or daily need products at
affordable prices.

(A) Har Hith Store (B) Har Har Store
(C) Arhat Store (D) Harihar Store
(E) Not attempted

?
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Which of the following chemical

compound was earli :
dry cleaning of clothes that contami

the ground water and also a suspected

.EP'-.E

47.

carcinogen ?

(A) Carbon dioxide

(B) Carbon Tetra chloride
(C) Sodium Hydroxide
(D) Tetrachloroethene

(E) Not attempted

This Rohtak based model won the
Miss World title in 2017

(A) Sakshi Malik

(B) Manushi Chhillar

(C) Deepa Malik

(D) Geetha Phogat

(E) Not attempted
49.

of the following poisonous chemical
leakage?

(A) Methyl isocyanate
(B) Mustard gas

(C) Styrene gas

(D) None of the above
(E) Not attempted

S0. This district of Haryana is devoid of any
perennial rivers

(B) Mahendragarh
(D) Ambala

(A) Rohtak
(C) Panchkula
(E) Not attempted

er used as solvent for
nates

Bhopal gas tragedy was related to which
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as 55 -
51. The battle of Plassey took place in 51. Tl @61 4 E,\‘-:m = 1756 ax@
(A) 1757 (8) o]
(B) 1756 (A 1757 D) 1764 :
(C) 1857 (D) 1764 (C) 1857 ( =
(E) Not attempted (E) aroerfrd 2
— mashm’-’ef“““ #
52. Chinook is a local wind found in 52. FrH ”W (B) W—[
(A) India (B) Australia (A W@ A (D) A A
(C) USA (D) France (cy FEe. o ,
(E) Not attempted (E) SHRIISE — 2 1985 ™
53. The Anti-Defection Act came into 53. T ®aT mﬁ::rqfﬁﬁqq m?’”
force in 1985 through this Constitution EELS farreft 5
Amendment ; ) 427
(A) 52 (B) 42 (9 523 (D) 447
(C) 8e™ (D) 44" (C) 86 9l
(E) Not attempted (E) S i T Sl
erfefiaa & =1
54. Which one of the following is not written 54. #a L2k
by Harshavardhana ? T e ? e
: B
(A) Nagananda  (B) Ratnavali (A) TS :D)) Rrrefdia
(C) Harshacharita (D) Priyadarshika (@) =i
(E) ST

(E) Not attempted )
s5. wifht @ e FHid

55. Gandhiji was the President of the

Congress Session held at feEsH % 3TN |
(A) Belagavi (B) Calcutta (A) STl (B) SHrehdl
(C) Ahemadabad (D) Nagpur (C) ATHEG (D) APTIT
(E) Not attempted (E) IrsEa
56. The Capital city of the Portugal is 56. AT Sl USEHI 8
(A) Evora (B) Lisbon (A) 3a (B) o=
(C) Porto (D) Lagos (C) el (D) S
(E) Not attempted (E) 3rv=Ttéa
57. Under this Article of Indian Constitution 57. W faue % e 313%3 * dgd
parliament has the power to create g et Wt =2 ¥ fauw afitwe =1
legislative council in any State 1 mifET e % ’
(A) 178 (B) 171 N (A) 178 ®) 171
(C) 170 (D) 169 %{% (C) 170 (D) 169
=

(E) Not attempted (E) 3TvrRmia
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58.

60.

61.

62.

58.

The
(4) Rajendra Chola |

-
(B) Rajaraja Chola | E\?@

(C) Rajaraja Chola I
(D) Rajendra Chola |

(E) Not attempted
Identify the language which is not an
official language of United Nations ?

(A) Chinese
(C) Dutch

(E) Not attempted

(B) English
(D) Arabic

The President of India has power to

declare Financial emergency under
Article

(A) 352
(C) 364

(E) Not attempted

(B) 356
(D) 360

Identify the country which is not the
founding fathers of ASEAN.

(A) Thailand

(B) Indonesia
(C) Cambodia
(D) Singapore
(E) Not attempted

Kabir was one of the most important

disciples of
(A) Surdas

(B) Ramanujacharya
(C) Ramananda
(D) None of the above

(E) Not attempted

Brihadeshwara temple at Tanjore

58.

59.

60.

61.

62.
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63. The Mandovi

64.

85.

66.

river water dispute is i
between P sin

(A) Maharashtra — Andhrapradesh
(B) Goa - Karnataka

(C) Tamil Nadu - Karnataka

(D) Gujarat — Maharashtra

(E) Not attempted

The average speed of the rotation of the
earth at equator is

(A) 1670 km/hr
(B) 1845 km/hr
(C) 1410 km/hr
(D) 1130 km/hr
(E) Not attempted

The Congress Session which declared
‘Poorna Swaraj’ as goal was held at

(A) Belagavi

(B) Lahore

(C) Calcutta

(D) Mumbai

(E) Not attempted

The ‘Nayankara system’ was the feature
of the administration of

(A) Vardhanas

(B) Vijayanagara rulers
(C) Maratas

(D) Mughals

(E) Not attempted
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63.

64.

65.

66.

(A) 1670 Feit /et

(B) 1845 Fret /=T

(©) 1410 ferft/5&

(D) 1130 foreft /50T

(E) S

i 1 o o foret O =0
aﬁa&qﬁ;aﬂﬁﬂ"\ﬁﬁm o1, el
S foe TR o 7

(A) SrTEl

(B) WE -

(C) el -



6

68.

68.

70.

71.

%

The eastern tip of India is
7

(A) Indira col

(8) Ranna of Kutch
(C) Indirapoint

(D) Luhit

(E) Not attempted

The last session of the Constituent
Assembly was held on

(A) 26" January 1950

(B) 24" January 1949

(C) 24t January 1950

(B) 26" November 1949

(E) Not attempted

In Indian Consti

tution the “Freedom
of Expression” i

S a Fundamentg| Right

under Article
(A) 19 (B) 17
(C) 20 (D) 18

(E) Not attempteq

The country which is called as “Land of
mid-night Sun”

(A) Australia
(C) Norway
(E) Not attempted

(B) Japan
(D) England

The Radio waves transmitted from the

Earth are reflected back to the Earth by
this layer

(A) Troposphere
(BJ Thermosphere
(C) Mesosphere
‘D) Stratosphere

(E) Not attempted

68.

69.

70.

4

(A) 26 SFertt 195
(B) 24 Serit 1944
€) 24 St 195
(D) 26 dw 1949
(E) 3nwnfem

W#ﬁmﬁ“ﬂﬁmﬁaﬁw
TR T G e s 3

(K) 19 (B) 17
() 20 (D) 18
(E) 3rwfyg

aﬁéﬁrﬁiﬁ“ﬁgmﬁwszwmm%

(A) 3Hifemm
(Cy 979

(E) 3rvariEe

geft @ weia Wt 7 39 W g A
geaft W quafda gt &
(A) TR
(B e
(C) TrarEhiE
(D) ReEHR
(E) St

(B) ST
(D) ¥ie



T2,

73.

74.

75.

76.

(D) None of the above
(E) Not attempted

The pair of the Countries and their

national legislatures are qi
e given. i
the correctly matched pa?r. Identify

(A) France — Majilis

(B) USA - Parliament

(C) Germany — Bundestag EIN =
(D) Spain — National Assembly I%.\u‘
(E) Not attempted

The NATO was established in
(A) 1989 (B) 1969
(C) 1946 (D) 1949
(E) Not attempted

The transmission of heat from one part of
a liquid or gas to another by movement of
particles themselves is called

(A) Conduction (B) Radiation
(C) Advection (D) Convection

(E) Not attempted

The BRICS is an association of following
five countries

(A) Brazil, Russia, India, Canada and

South Africa
(B) Britain, Russia, India, China and South

Africa
(C) Britain, Russia, India, Canada and

South Africa
(D) Brazil , Russia, India, China and South

Africa
(E) Not attempted

The water vapour passing into solid state
without the intervening liquid state is
called

(A) Evaporation
(B) Sublimation

(C) Condensation
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72,

73.

74.

75.

76.

sSS —
gmad
T 3fk I Tt Rt AR |
R | T e g B T
(A) wim-uffera
(B) JuHU-THE
(C) -2
(D) BF-Ivre FAdee!
(E) At
a1 Y e 6 78 A
(A) 1989 (B) 1969
(C) 1946 (D) 1949
(E) aTv=fera
%&ﬁaamﬁaa:@”mﬁfﬁ‘w;:%%
it 35 e gr S b E H
(A) =T (B) ﬁﬂ“"“
(C) Af¥aE (D) |
(E) 3rvaid

firmm (BRICS) fr=frfaa ai= <=t &1 T
| R
(A) FTofier, &4, WA, STl A S0

3TRTRT
B) frem, =4, s, = 3 g suhe

(C) B, w4, wwE, Frel 37K efur 3TheH
(,Dﬁ ﬁ]ﬁﬁﬁ,w,m,?ﬁﬂaﬂ(ﬁmm
(E) arwmia

o 5@ araEr % 3 StEE ¥ 9 areh
AT HEATA 8

(A) aTsdieRtor
(B) 3= w91 Y R

: =]
(2) "o 5
(D) 3% # A s 7 E@
(E) Avanfda

e



7.

78.

79.

80.

81.

In the Interim government of India formed
on 2™ September 1946 Dr. B. R. Ambedkar
was the

(A) Home Minister %
(B) Law Minister =
(C) Health Minister

(D) Education Minister

(E) Not attempted

The famous missile testing place of India is
(A) Pune (B) Shriharikota

(C) Chennai (D) Wheeler Island
(E) Not attempted

The Rajya Sabha was constituted for the
first time on

(A) 3" June 1946

(B) 3 April 1952

(C) 3" September 1947

(D) 3% April 1951

(E) Not attempted

The famous Kailasanatha temple in
Maharashtra is located in the district of
(A) Aurangabad (B) Solapur

(C) Pune (D) Nasik

(E) Not attempted

The International Day of Democracy is
observed on

(A) 19" August
(B) 20" February
(C) 15" May

(D) 15" September
(E) Not attempted

77.

78.

79.

80.

81.

S8 -0

2 e 1946 &1 TH g fy 7ty
TR H 31.%f. 3. armareay 9

(A) T8 i
(8) T el
(C) Ty Wi
(D) Torem w=h
(E) 3Tt

W T St FATE wite e 2
(A) T (B) Hfrefiemier

(C) == (D) =iew Fiy
(E) vy

TISTHHT 1 Ugell a1 a7 fpar 797 o

(A) 3T 1946 =

(B) 331 1950 =y

(C) 3T 1947 5

(D) 33T 1951 7y

(E) sTemfir

s T st e e e o
fRre

() ST g Hremg

©) T (D) il

(E) armnfem

SARRRE 1 SIS R s sy &
(A) 19 3T

(B) 20 wall

(C) 15w

{B) 15 firdn %‘%
(E) Jrnfe '



82.

83.

84.

85.

86.

The ruler Kri

Empire be:f):'\sgzn?: iy
(A) Saluva

(C) Araveedu

(E) Not attempted

a of Vijayanagara
ihe dynasty Of g

(B) Sangama
(D) Tuluva

Sruated on e banks or e par
(A) Tungabhadra

(B) Krishna

(C) Cauvery

(D) Godavari

(E) Not attempted

One who is called as ‘Parrot of India’

(A) Birbal

(B) Tansen

(C) Amir Khusru
(D) Nubath Khan

(E) Not attempted

The Ghat which connects Mumbai and
Nasik

(A) Bhorghat

(C) Palghat

(E) Not attempted

(B) Agumbe Ghat
(D) Thalghat

The Mount Batten Plan was also called
as

. (A) April Plan

(B) June Plan

(C) December Plan
(D) August Plan

(E) Not attempted

82.

83.

84.

85.

WW$WWW
Tafpaanageaiad 7 gy
() BT (B) ig@@
©) 3T

(C) anfag
(E) et

ﬁmtwﬁmmﬂ‘éﬂﬂmﬁ
FaemPazg?

K) TS
(B) =0T

(B) I H1C

(D) A=

(A) HIETE
(C) TIETETE
(E) 3Tvatéa

13z AT I 1 I8 ol el 1 A0

(A) 3 AT
(B) S T
(C) Temer A
(D) IFTE FT
(E) 3Tv=féa




o m i itution
le of the Indlan_ Consti

g7. The gﬁsirige?i as the ‘Political horoscope

was

of the Constitution’ by

(A) K- M. Munshi
(8) Dr.B. R. Ambedkar

(C) Jawaharlal Nehru
(D) Dr. Babu Rajendra Prasad
(E) Not attempted

88. The Leading producer of Coffee in the

89.

90.

91.

Country
(A) Kerala
(B) Assam
(C) Karnataka
(D) Tamil Nady
(E) Not attempted
In the Maurya

the official inc
called

(A) Gopa
(C) Governor
(E) Not attempted

n Provincial government
harge of ten villages was

(B) Sthanikas
(D) Gramika

The Sutlej river rises from
(A) Chandra Bhaga
(B) Rohtang pass
(C) Lake Rakas
(D) Verinag
(E) Not attempted

The City which is called as Manchester of
South India

(A) Chennai %n"-[g
(B) Bengaluru Dtk

(C) Mumbai

(D) Coimbatore
(E) Not attempted

88.

89.

91.



93.

94.

95.

96.

97.

the Constitution Under Artig|
icle

(B) 315
(D) 371 A %ﬁ‘\

(A) 300 A
(C) 321 C
(E) Not attempteq

established on
(A) 24" January 1945
(B) 24" October 1945
(C) 24™ July 1945

(D) 24™ December 1945
(E) Not attempted

The literary work ‘Mrichakatika’ was
composed by

(A) Vishakadatta (B) Kalidasa
(C) Vishnusharma (D) Shudraka
(E) Not attempted

The largest river Island of India

(A) Majuli (B) Berren
(C) Devon (D) Nova Scotia

(E) Not attempted

The first encyclopedia in Sanskrit is
(A) Mitaksara (B) Manasollasa
(C) Rajatarangini (D) Asthadyayi
(E) Not attempted

One of the following option is incorr
matched. Identify the incorrect match.

(A) Narora — Madhya Pradesh

(B) Tarapura — Maharashtra

(C) Ranapratap Sagar — Rajasthan
(D) Kalpakkam — Tamil Nadu

(E) Not attempted

oY 18 Legal Right in

ORI D

ectly
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92.

93.

94.

95.

96.

97.

sS — TO03

wufer 1 s wfeT % R STTOS
& T8 BILR e R 7

(%) 300 A (B) 315
(C) 321C (D) 371 A
(E) arsrafera

Hae g we oy wemen wA w7

(A) 24 S9afl 1945

(B) 24 aTFgaX 1945
(C) 24 JeITs 1945

(D) 24 fed=t 1945
(E) Irwanféa

m%ﬁmﬁqu%ﬂ’ﬁmﬁﬁmf%
off ?

) fasmrareT
(C) fersomi
(E) uattéa
W T G =S 78 99§

(A) T (B) S
(C) =am (D) rar ThifeAT

(E) T9TEd

Hepa 1 wuH faawy 2

(A) Tormara (B) IEIgE
(C) T=rarfroft (D] ITTerit
(E) 3T Tiéd

fa=fefaa fasedl & & W =1 7T o=
e wan 8 | Treta e 6 9g=E =t |
(A) U — AEaIeST

(B) AU — WETT E8E

(C) TUTHATT IR — TSI (=),

(D) HeTTFRT — AftrerTg
(E) 3rsrfaa




L]
ﬁ

98.

98.

100.

SS - 103

In the Shivaii's Council of ministry called gg. Rmawh i Ahfeg @t Sregym B

‘Ashtapradhanas’ one who was incharge FTdT o1 399 CH =Ifga S ﬁil?ﬁﬂ ’:'W?ﬁ -

of foreign affairs o T, el T o —

(A) Sumant ) W %'%

(B) Amatya (B) HTH

(C) Pandit Rao (C) dfed T

(D) Peshwa () ILE

(E) Not attempted (E) Ay

Identify the wrong statement about 99, ﬁ?,?f (Mantle) & S H TTefq H29 £

Mantle. TE=E = |

(A) Most of the earthquakes and volcanoes (A) ey YT T TAHE ST
':::ﬁtlt;irth due to disorder in Upper TR F R ¥ o 9 E

(B) Itis the portion of the Earth’s interior (B) 7= W % = o= F ATt T
below the Crust 1 fewmr 2

(C) Lower Mantle is in solid form (C) Fraen yarw 3/ =9 & g &

(D) Outer layer of the Mantle is known as (D) #EE (Mantle) 3T aT80 Wa FEIEHET
Mesosphere ¥ 9 T 9 ST 2

(E) Not attempted (E) vfag

‘The father of Indian Renaissance’ is 100. ‘I QSO & w9 &

(A) Annie Besant Ee E (A) Tt 982

(B) Raja Ram Mohan Roy El (B) TSI W AigT W

(C) Swami Vivekananda (C) Tamdt faasrg

(D) Dayananda Saraswathi (D) TG qCEt

(E) Not attempted (E) 3rwnfea
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